
Service Parts Catalog Contents

PageSet 6

Body

350 Doors

DOOR SWITCH

MASTER

_____________________________________________________________________________ 1

ENTRANCE

AIR MANIFOLD

_____________________________________________________________________________ 2

DOOR ACTUATOR

_____________________________________________________________________________ 3



Models: M4RE
DOOR SWITCH
MASTER

Service Parts Catalog

Key PartNumber Qty Description Comment

350 Doors
Page Set PS0003984

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: M4RE
DOOR SWITCH
MASTER

Service Parts Catalog

Key PartNumber Qty Description Comment

350 Doors
Page Set PS0003984

1 0040223 BRACKET,MTG,SWITCH,MASTER,C4RE

2 1656396 SWITCH,REAR CONTROL

3 1337039 2 SCREW,12-24 X 3/8,PH1,PAN HD,YEL ZN

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: M4RE
ENTRANCE
AIR MANIFOLD

Service Parts Catalog

Key PartNumber Qty Description Comment

350 Doors
Page Set PS0003985

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: M4RE
ENTRANCE
AIR MANIFOLD

Service Parts Catalog

Key PartNumber Qty Description Comment

350 Doors
Page Set PS0003985

1 1545128 VALVE,SPOOL,DIRECTIONAL CONTROL

2 0009917 CONNECTOR,MALE,1868X4-Z,.13MP X .25T"

3 0069497 MANIFOLD,AIR,ENT DOOR,W/VALVE,M4RE

4 0067337 SWITCH ASSY,PRESSURE,W/AIR REGLT,M4RE

5 0064587 VALVE,AIR,SPEED CONTOL,NORGREN

6 0009987 TEE,UNION,1864X4,.25T

NI 2216463 TUBING,HYTRON,1/4 OD X .040 WALL

NI 1004621 TUBING,PLASTIC,1/8 OD,BLACK,SAE J844 TYPE

NI 0056903 SCREW,WOOD,PH,PN HD,#14 X 2-1/2,SS

NI 3747045 SCREW,SM,PH,PN/HD,1/4 X 3/4,TYPE A,18-8 SS

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: M4RE
ENTRANCE
DOOR ACTUATOR

Service Parts Catalog

Key PartNumber Qty Description Comment

350 Doors
Page Set PS0003986

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: M4RE
ENTRANCE
DOOR ACTUATOR

Service Parts Catalog

Key PartNumber Qty Description Comment

350 Doors
Page Set PS0003986

1 0069495 CYLINDER,AIR,2.5BORE,6.0STROKE,W/VALVE,

2 0068230 SPACER,ACTUATOR,PIVOT ASSEMBLY,

3 0065427 BEARING,BRONZE,SLEEVE,.50IDX.625ODX.75L

4 0070134 WASHER,FLAT,”D”,.522ID X 1.062OD X .06,ZN3

5 1003045 WASHER,FLAT,17/32 X 1 1/16 X 7/64,HDN,

6 0070290 SCREW,SHOULDER,.50 X 1.0,.375-16 THDS

7 0070230 COVER,DOOR,ACTUATOR ROD,ENTRANCE 

8 0070253 BRACKET,MOUNTING,COVER,ENTRANCE DOOR,

9 0070226 KIT,ACTUATOR,DOOR LINKAGE,M4RE

10 0070293 BRUSH,STEPWELL,CLOSEOUT W/HOLDER,M4RE

NI 1925833 SCREW,8-18 X 1/2,AB,PH1,PAN HD,BLK ZN

NI 1692664 CAPSCREW, HEX FLG,1/4-20 X .75, GR5, YEL 

NI 3840915 WASHER,LOCK,HELICAL SPRING,5/16,ZN3

NI 6069355 SCREW,MACH,PH,RND HD,1-4-20 X 3/4,SS

NI 0026254 NUT,HEX,1/4-20,STAINLESS STEEL

NI 3805165 WASHER,LOCK,HELICAL SPRING,1/4,304 SS

NI 1544493 TRIM,VINYL,BLACK,DOUBLE LIP,.180

NI 0067349 COVER,VINYL,ACTUATOR ROD,QUARTZ,M4RE

NI 2001485 NUT,HEX HD,1/2-20,ZINC

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number




